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Note: All questions are compulsory. Carrying of mobile phone during examinations wzll be

treated as case of unfair means. Give all answers to the point.

1. What is the role of a bioprocess engineer in a biotech industry? [1]
1]

3L) with suitable diagram:.
[2]

4. Why the mixing power is always lesser tha the actual power consumed during agitation?

(2]

2. What do you understand by Good Manufacturirig Practi

3. Explain the concept of Hydrodynamic Boundary Lay 4

£

enter using dynamic gassing out method? How it is
: [3+1]

5. How will you determine K a of a
better than a sulphite oxidation

6. A cylindrical stirred bioreagtor of diameter and height 2 m has a Rushton turbine one-
third the tank diameter in size. The bioreactor contains Newtonian culture broth with the
same density as water and with viscosity 4 cP. If the specific power consumptlon must
not exceed 15 ka determine the maximum allowable stirrer speed. What is the
mixing tlme uﬁder these conditions? [2+1]

7. A strainfof Azoz‘obacter vinelandii is cultured in a 15 m’ stlrred fermenter for alginate
production., Under current operatmg conditions kza is 0.17 s™'. Oxygen solubility in the
br@th is appr0x1mately 8 x 107 kg m™. The specific rate of oxygen uptake is 12.5 mmol g

\ "h Determme the maximum possible cell concentration in g/1? [2]




